QuEesTiON 1

a mn=

c mn+p=

e mnp®=

g m+n+p-=
QuesTion 4

a 6¢-ab=
¢ abcd =

e b+c2-a’=

b

d
f
h

Ifm=7,n=4and p=12, evaluate the following.

mnp =

m® +n’ + p* =

Im—-p =

Ifa=3,b=4,c=5andd=6, find the value of each expression.

b a®>+b*+c%=

d ab-cd=

f

b? -5 =

QuesTion2  Evaluate the following expressions ifa =3, b =-2 and ¢ = 6.
a a+b+c= b ab+c= C ab+c¢ =
d d+b = e a—-b-c= £ (a+b+c) =
a+b+c
8 I h alb+e) = i a+2b+c=
j at +ct—b = k a'b= 1 2c+a =
1 1 a b
m abc = n —+— = 0 —+— =
a c b a
QuEsTION2  If a = 4, find the value of the following expressions.
a 5a+7-= b (a—5) =
c a*-9= d 85-4a=
e 3a(a+4)= f 50°+8=
g 5(a+6)= h o=
i V25-a® = j 3(2a+7)=
k 3a= L (@a+7)(a-7)=
1
QuesTioN3  If a=—,b= = find the exact value of the following.
a+b
a a+b= b a-b= C -
a—>b
d a—>b a—b+a+b ¢ 2
a+b ¢ a+bh a-b arh=



